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 �� ��� �����	�� �������
�
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P
( m⋂

k=1

{A1(uk) ≤ sk}
)

= det(1 − χsK1χs)L2({u1,...,um}×R) (���)

����� χs(uk, x) = 1(x > sk) �
� ��� ���
�� K1 �� � �	��	��� ��� A1(x, y) = Ai(x + y)
�
� H1 = −Δ ���� Δ ��� 	
������
��	
�� �����
��
� ���
 ��� K1 �� ���
�� ��

K1(u, s; u′, s′) = −(e−(u′−u)H1)(s, s′)1(u < u′) + (euH1A1e
−u′H1)(s, s′). (���)

��������� �	� (6�
 $���2 2���
��)	 ��� $���2 2���
�� A2 �� ��� ��	
��� ���� m�
�	�
� �	�
� ����������	
� �� u1 < u2 < . . . < um ����
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P
( m⋂

k=1

{A2(uk) ≤ sk}
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= det(1 − χsK2χs)L2({u1,...,um}×R) (��+)

����� χs(uk, x) = 1(x > sk) �
� K2 �� ��� ����
��� ���� ���
��� ��� H2 �� ��� ����
	�����	�

H2 = − d2

dx2
+ x (��1)
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A2(x, y) =

∫
R+

dλAi(x + λ)Ai(y + λ). (���)
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 ��� ���
� ��� ���
��

K2(u, s; u′, s′) = −(e−(u′−u)H2)(s, s′)1(u < u′) + (euH2A2e
−u′H2)(s, s′). (��@)
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K1(u, s; u′, s′) = − 1√
4π(u′ − u)

exp

(
− (s′ − s)2

4(u′ − u)

)
1(u < u′)

+Ai(s + s′ + (u′ − u)2) exp

(
(u′ − u)(s + s′) +

2

3
(u′ − u)3

)
, (���)

+
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− ∫
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{
2u + O(u2) "�� |u| �����5
g(∞) − 2u−2 + O(u−4) "�� |u| ����
�
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det(1 − χsKχs)L2({u1,...,um}×R) (���+)

=
∑
n≥0

(−1)n

n!

m∑
i1,...,in=1

∫
x1≥si1

dx1 · · ·
∫

xn≥sin
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∑
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